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C2 - Trig Ratios

Understand what the trig ratios sine, cosine and tangent represent.

Use the trig ratios sine, cosine and tangent to determine an unknown side of a right
triangle when given an angle and a side

Use the trig ratios sine, cosine and tangent to determine an unknown angle of a right
triangle when given two sides
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Ratios in Similar Triangles

Review Trigonometry Ratios Investigation
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Problem

Solve for the missing side in the triangle below.
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Practice

Determine the missing side or angle in the following triangles.
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Problem
Solve for the missing side in the triangle below.
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Practice

Determine the missing side or angle in the following triangles.
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Problem

Solve for the missing side in the triangle below.
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Problem

Solve for the missing side in the triangle below.

We need the o wwto for $2°
ads

230 ft D"W I+

50°

What if the angle in the triangle is 31°? 32°? 33°9 33.5°9
Thankfully, someone has already measured and calculated these ratios for us ...

Trig Table

™
- Check previous problems with
Trig Table.
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Tangent Ratio

. opposite o .
The ratio of ————— that we have been working with is called the tangent ratio.
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Bridge Problem Revisited

What is the width of the river if | know the following? ...
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Problem

A small boat is 95 m from the base of a lighthouse that has a height
of 36 m above sea level. Calculate the angle from the boat to the
top of the lighthouse. Express yvour answer to the nearest degree.
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Practice: Text pg. 41: #7, 8, 10, 14 (use Trig Table)
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